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B oA (M) T & M # (M) HEBMMYEE (1)
YRR KA 122,794,100 111,631,000 (A) 11,163,100
AL U e i 126,372,400 114,884,000 (B) 11,488,400
MR AR 117,535,000 106,850,000 (C) 10,685,000
EHEASE 120,959,300 (F) 109,963,000 (D) 10,996,300 (E)
HEJREA 3,424,300 3,113,000 311,300
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(B) X (C) =+ (A) = (D)
(D) X0. 1=(E)
(D) +(E) = (F)
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2 M BRIIDERMIREER N LRELISE No. 1
RETEEAT RETERR e
= L P = 34 11 3 & 1ﬁ;i =
# H W= g B B s g B B e | FUHEER WE
[ERZAR %
I #ETHE = 37,120,374 = 39,642,552 2,622,178 HE%H
| w5 THF =Y 9,154,289 = 9,154,289 0
IM| el T4 Y 32,704,751 Y 32,704,751 0
RN % 78,979,414 81,501,592 2,522,178 H4%E
Him g
[ HmEGes Y 3,668,511 Y 3,761,904 93,393 H%H
0| B5E e =X 15,992,333 = 16,285,039 292,706 HE%H
— R R 2y 12,990,921 X 13,335,497 344,576 |HEFH
B TE 32,651,765 33,382,440 730,675 HE%E
&t 111,631,179 114,884,032 3,252,853 HA%H
XA RE (L Hm k) SREEST 11U e 111,631,000 114,884,000 3,253,000 H4%E
THE RS %A 11,163,100 11,488,400 325,300 HE%HE
wast (LFEE) 122,794,100 126,372,400 3,578,300 H4%H




2 M BRIIDERMIREER N LRELISE No. 2
REtEER RETEFR a3
® H L Y AT Yy g BE BE o | EUEEE WE
I |BETSE
Al |[#H#AE ] 2V 21,156,957 = 23,155,374 1,998,417 H4%gH
A2 s/ NFAg ] =Y 15,963,417 = 16,487,178 523,761 |H&%E
Gt 37,120,374 39,642,552 2,522,178 H4%E




2 M BRIIDERMIREER N LRELISE (BRI =ix] No. 3
RETEEAT RETERR et
# H wE g B B Yy g BE BE o | EUEEE WE
Al | [$B3Rdb i)
1 |EERGETE 1 K 1,039,446 1 =X 2,221,446 1,182,000 H4%H
2 |[BEdELE 1 = 4,079,126 1 = 4,079,126 0
3 |NEdE T 1 X 7,220,524 1 XK 7,220,524 0
4 |[BEXETE 1 = 101,648 1 = 101,648 0
5 [2=y R OFOMIEHE 1 K 5,882,730 1] =X 5,882,730 0
6 |-y 1 = 2,833,483 1 = 3,649,900 816,417 Ha%H
&t 21,156,957 23,155,374 1,998,417 H4%gH




2 M BRIIDERMIREER N LRELISE [/ k] No. 17
RETEEAT RETERR .
. - 1EiEEE
# H wE g B B s g B B o | EUEEE WE
A2 | [fRtE/IVERL)
1 |EERGETE 1 K 863,886 1 =X 1,318,446 454,560 HE%E
2 |[BEdELE 1 = 2,743,712 1 = 2,743,712 0
3 |k s T E 1 K 5,436,902 1 =X 5,436,902 0
4 |[BEXETE 1 = 114,951 1 = 114,951 0
5 |2=vyhEONFOMTEH 1 K 4,906,560 1 =X 4,906,560 0
6 |-y 1 = 1,897,406 1 = 1,966,607 69,201 \HE%H
&t 15,963,417 16,487,178 523,761 HE%H




